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Read the following instructions carefully before you begin to attempt the questions.

INSTRUCTIONS T NDIDATE
This booklet contains 100 Questions in all comprising the following Three parts.

Part-(l) : General Science & General Awareness (45 Questions)
Part-(ll) : Mathematics (25 Questions)
Part-(lll) : General Intelligence and Reasoning (30 Questions)

All the questions are compulsory and carry equal marks.

Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages
and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced imme-
diately.

Each question carries negative marking also as 1/3 mark will be deducted for each wrong answer.

You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name,
Roll number, Test name/ld and name of the examination on the Answer-Sheet carefully before you actually start
attempting the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These
instructions must be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be
awarded ‘ZERO’ mark.

Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by Black/Blue ball pen only.

A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/
different from the information given in the application form, the candidature of such candidate will be treated as
cancelled.

The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may
be deemed fit.

Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy.
Do not spend too much time on any question.

Mobile phones and wireless communication device are completely banned in the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair
means in the examination and action will be taken against them including cancellation of their candidature.

No rough work is to be done on the Answer-Sheet.

No candidate can leave the examination hall before completion of the exam.

Maximum Marks : 100

Total Questions : 100
Time Allowed : 90 Min.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

RGD-87250458-E

VENKIS COACHING




Q1

Q.2

Q.3

Q4

Q.5

Q.6

Q7

Q.8

Q.9

Q.10

Q.11

Q.12

Q.13

UENKIS COACHING

General Science & General Awareness

Recently on 16th January 2025, which government scheme
has observed its ninth anniversary?

(A) Digital India
(C) Make in India

(B) Startup India
(D) Skill India

According to RBI, what is the minimum amount to be
remitted through Real Time Gross Settlement (RTGS)?

(A) Rs 1 lakh (B) Rs 2 lakh

(C) Rs 3 lakh (D) Rs 4 lakh

What is India’s projected economic growth rate for FY26 and
FY27, as per the World Bank’s Global Economic Prospects
(GEP) report?
(A) 5.8%
(C) 7.0%

(B) 6.5%
(D) 6.7%

Recently, where has the 85th All India Presiding Officers’
Conference (AIPOC) inaugurated by Om Birla on January
20, 2025?
(A) Patna
(C) Kolkata

(B) New Delhi
(D) Lucknow

Which scheme is associated with the distribution of property
cards to rural property owners under which PM Modi has
distributed property cards across 10 states and 2 UTs?

(A) Pradhan Mantri Awas Yojana

(B) SVAMITVA Scheme

(C) Pradhan Mantri Awas Yojana

(D) Rural Property Rights Scheme

Which Indian state recently signed a MoU with Icelandic
company Varkis Consulting Engineers for the exploration of
geothermal energy?
(A) Himachal Pradesh
(C) Sikkim

(B) Uttarakhand
(D) Arunachal Pradesh

The recently launched book "The World After Gaza" has
been authored by whom?
(A) Pankaj Mishra

(C) Tariq Ali

(B) Arundhati Roy
(D) Jacqueline Rose

Which planet is also referred to as a "Dwarf planet"?
(A) Pluto (B) Mercury (C) Jupiter (D) Saturn

Who was the founder of the Brahmo Samaj, founded in
18287

(A) Rabindranath Tagore

(B) Subhash Chandra Bose

(C) Sardar Vallabh Bhai Patel

(D) Raja Ram Mohan Roy

Shah Jahan built Taj Mahal in memory of ..................
(A) Rugayya Sultan Begum(B) Jodha Bai
(C) Mumtaz Mahal (D) Nur Jahan

Group of 4 bits forms a
(A) Byte (B) Nibble (C) Gigabyte

Diabetes is caused by
(A) Excess of insulin
(C) Malfunction of liver

(D) Terabyte

(B) LoW production of Insulin
(D) Higher production of bilirubin

Who was the first French governor of Pondicherry?
(A) Fraco martin (B) Francis Day
(C) Charles Eyre (D) Job Charnock
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Which of the following is called GDP Deflator?
(A) Ratio of nominal to real GDP

(B) Ratio of nominal to real GNP

(C) Ratio of nominal to real CPI

(D) Ratio of real to nominal GNP

In which city is the Forest Research Institute of India
located?
(A) New Delhi (B) Kolkata (C) Dehradun (D) Shimla

Which one among the following cities never get the vertical
rays of the Sun all through the year?
(A) Chennai (B) Mumbai (C) Shimla (D) Srinagar
Consider the following statements:

1. Nanda devi peak forms a part of kumaon Himalayas.
2. Chikmangalur is famous for coffee cultivation.

Which of the statements given above is/are NOT correct?
(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Match the following columns:

Column-l Column-ll

(Biosphere Reserves) (States)

a. Nilgiri 1. Odisha

b. Manas 2. Madhya Pradesh

c. Panchmarhi 3. Tamil Nadu

d. Similipal 4. Assam

Select the correct match using the code given below:
abocd

(A) 3 4 2 1

(B) 2 143

(C) 3214

(D) 2 13 4

The Judge of the High Courts in India is administered oath
of office by

(A) The Chief Justice of the High Court

(B) The Governor of the State

(C) The President of India

(D) The chief Justice of India

Which one among the following is not a constitutional body
in India?

(A) Comptroller and auditor general of India

(B) National Commissioner for religious and linguistic
Minorities

(C) National Commission for Scheduled Castes

(D) National Human Rights Commission

Attorney-General of India-

1. Participate in the proceedings of the Lok Sabha.

2. Can be a member of any committee of the Lok Sabha.
3. Speak in the Lok Sabha.

4. Can vote in the Lok Sabha.

Select the correct answer using the codes given below:
(A) 1 and 2 only (B) 1 and 3 only

(C) 1 and 4 only (D) 1, 2 and 3 only

What is nature of pH of Milk?
(A) Slightly Acidic (B) Slightly Basic
(C) Highly Acidic (D) Highly Basic

Who among the following devised the technique IVF (In vitro
Fertilization)?

(A) Sir Frank Whittle
(C) Edward Jenner

(B) Robert Edwards
(D) Karl land Steiner
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Who was discovered Gibberellins plant hormone?
(A) Charles Darwin (B) William M. Welles
(C) E. Kurosawa (D) Letham

What is the location of islets of langerhans?
(A) Part of the pancreas

(B) By the side of the kidney

(C) On both sides of lungs

(D) Below the left portion of the liver

Mahatma Gandhi advocated a
(A) Local (B) Centralized
(C) Decentralized (D) Global

economy.

Which one of the following was the first English ship that
came to India?
(A) Elizabeth (B) Bengal (C) Red Dragon (D) Mayflower

The demand for an inferior good decrease with in
the consumer's income.
(A) Increase
(C) Constant

(B) Decrease
(D) Double

When was the first time the physical quality of life used to
measure the National Growth?

(A) 1969 (B) 1976  (C) 1988 (D) 1991
The Club of Rome is related to?

(A) Economic Development

(B) Economic growth

(C) Sustainable Development

(D) Developed economy

The method of soil conservation in the coastal and
dry regions where rows of trees are planted to check the
wind movement to protect soil cover is called?

(A) Mulching (B) Contour barriers

(C) Rock Dam (D) Shelterbelts

The sea that separates Greece and Italy is
(A) Labrador Sea (B) The Balearic
(C) The Adriatic (D) The Aegean

Hussain Sagar Lake is located?
(A) Bangalore (B) Hyderabad
(C) Bhubaneswar (D) Murshidabad

Heat energy of an object is

(A) The average energy of the molecules of the object

(B) The total energy of the molecules of the object

(C) The average velocity of the molecules of the object

(D) The average potential energy of the molecules of the
object

The action of a nib split at the top of the pen is explained by
(A) Gravity flow (B) Diffusion of fluid
(C) Capillary action (D) Osmosis of liquid

Which one of the following is not correctly matched?
(A) Voltmeter —Potential difference

(B) Potentiometer- EMF

(C) Ammeter — Electric current

(D) Meter bridge — Electrical resistance

The negative logarithmic value of hydrogen ion concentra-
tions called .
(A) Ph (B) pOH

(C) pKa (D) pKb
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Aqua-regia used by chemists to separate silver and gold is a
mixture of .

(A) Conc.HCI and conc. HNO3

(B) Conc.HCI and Conc.H2S04

(C) Conc. HNO3 and Conc.H2S04

(D) dil. HCI and dil. H2S0O4

If a refrigerator’s door is kept open, then

(A) Room will be cooled

(B) Room will be heated

(C) May get cooled or heated depending upon the weather
(D) No effect on room

Water is neither acidic nor alkaline because

(A) It boils at a high temperature

(B) It cannot donate or accept electrons

(C) It can dissociate into equal number of hydrogen and h
droxyl ions

(D) It cannot accept or donate protons

Which of the following cell organelles is found in a cell that is
very active in protein synthesis?

(A) Mitochondria (B) Chloroplast

(C) Lysosome (D) Ribosome

The term ‘Meiosis’ is coined by-
(A) Fleming (B) Robert Hooke
(C) Purkinje (D) Farmer and Moore

Consider the following statements:

1. The protein content of edible portion of egg is 13.3%.
2. Honey is the largest percentage of Starch.

Which of the statements given above is/are correct?
(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:

1. Increase in the number of WBC is referred as anaemia.
2. Wisdom teeth are Canines.

Which of the statements given above is/are NOT correct?
(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

What types of teeth are absent in the Rabbit?
(A) Molar (B) Premolars
(C) Canines (D) Incisors

Mathematics

Direction (46—-48): Read the following data carefully and answer

the questions

—&—Number of toy produce

2006 2007 2008 2009 2010 2011
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What is the average number of toys produced during the
period 2006 to 20117
(A) 1717 (B) 19.67 (C) 16.67 (D) 18.81

What was the difference in revenue generated from the
selling of toys produced in 2008 and 20107?
(A) 22800 (B) 28800 (C) 22900 (D) 29100

Which of the year showed the maximum percentage
increase in the cost of each toy from its previous Year?

(A) 2007 (B) 2009 (C) 2010 (D) 2006

Which of the fraction is in between 13/17 and 3/5?

(A)17/23  (B)19/24 (C) 14/15 (D) 22/55
(4.39X4.39%4.39+1.61X1.61x1.61)

(4.39%4.39— 4.39%1.61+1.61X1.61)

(A) 6 (B)2.78  (C) 0.01 (D)5
Find the LCM of 0.7, 5.6, and 0.28?

(A) 28 (B) 5.6 (C) 70 (D) 1.4

In an examination 70.5% candidates passed in physics and
80% in chemistry. If 65.5% of candidates passed in both
these subjects then what percentage of candidates failed in
both the subjects?

(A) 15% (B) 14.5% (C) 50.5% (D) 50%

A salt extracted from the sea weighing 12 kg has 84%
moisture. After some time of drying, the moisture
percentage reduces to 76%. What is its weight now?

(A) 10 kg (B) 8 kg (C) 9 kg (D) 10.5 kg

In a zoo there are just squirrels and parrots. The total
number of heads in the zoo is 210 and the total number of
legs in the zoo is 740.what is the ratio of the squirrels to
pigeons?
(A)16:5 (B)12:9 (C)32:50 (D)8:5

An article is sold at a profit of 16.67%.If its CP and SP are
increased by Rs 7 and Rs 6 respectively, and then the profit

would decrease to 8%. Find the CP.
(A) 18 (B) 20 (C) 12 (D) 14

In Spar hypermarket during Durga puja there was an offer
buy 3 get 2 free. But due to lack of sale, an additional
discount of 16.67 % was offered. If a person buys this
product find the net discount he gets?
(A) 45% (B) 50%  (C) 60% (D) 40%

In a tank there are two inlets each one can fill individually
the tank in 24 and 48 mins respectively. But a leak
developed just 75% below the surface, this leak can eject
out water at the rate of 100 lit/ min. Now the tank takes 22
min to fill the tank with both the inlet pipes open. What is the
capacity of the tank in litres?

(A) 2400 (B) 4800 (C) 3600 (D) 1200

Ram and Shyam can fence the garden in 24 and 16 hours
respectively but if they work together they will fence 96 m
less barbed wire per hour and complete the fencing in 12
hrs. Find the length of the barbed wire used for fencing
completely the garden?
(A) 2304 (B) 4608

(C) 3068 (D) 1017
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Partha and Ritwik drive at the speed of 25kmph and 35
kmph respectively. When they completed their journey they
calculated that they have covered a distance of 224 km in
just 7 hrs. What is the ratio of distances covered by them?
(A) 3:7 (B) 15:49 (C) 21:35 (D) 7:3

Amrita drives at the speed of 24 km/hr. Due to traffic, she
has to keep stopping in between because of which her
effective speed drops to 18 km/hr. What is her average
stopping time per hour?
(A) 20 minute
(C) 12 minute

(B) 18 minute
(D) None of these

Avinash and Subendu invested 2500 and 4000 in a
business; Avinash for running the business gets Rs100
Quarterly. If Avinash gets a total of 4150 at the end of year,
then what will subendu get?

(A) 6000 (B) 5000 (C) 6500 (D) 7000

Simple interest on a certain sum of money for 5 years at
10% per annum is half the compound interest on Rs 8000
for 2 years at 25% per annum. The sum placed on simple
interest is

(A) 4500 (B) 9000 (C) 6000 (D) 5000
If a®—b®=1647 and a-b=3 then (a + b)2 —ab =?
(A) 549 (B)594  (C)444 (D) 495
[ cosx.sinx ]2 -9

sinx(cos?x+sin?x) )

(A) cos?x (B) sin%x  (C) sinx (D) secx

A cuboid has dimensions 8x10x12(all dimensions are in m).
It is cut into small cubes of sides 2m.What is the percentage
increase in the total surface are?

(A) 286.2 (B) 314.32 (C) 250.64 (D) 386.5

The sides of a rhombus are 10cm and a diagonal measures
16 cm. Area of rhombus is
(A) 96 (B) 80 (C) 120 (D) 40

If x,y ,z are the midpoints of BC, CA, AB respectively of the
triangle ABC then the ratio of area of the parallelogram
ZYBX and area of the trapezium AYXB?

(A) 2/3 (B) 4/3 (C) 3/2 (D) 1/3
Find the median of the following data

35, 50, 43, 47, 52, 42, 39

(A) 42 (B) 43 (C) 45 (D) 50

The ratio of Principal to amount after certain year is 4 : 7
and after 19 years the ratio becomes18 : 41. Then find the
initial time period

(A) 29 (B) 18 (C) 54 (D) None of these
The ratio of milk to water in 3 containers of equal capacity is
4 :1,7 : 3 and 13 : 2. The containers mixed together then
find the ratio of milk to water after mixing?

(A)71/19  (B)71/450 (C)19/71 (D) 19/450

General Intelligence and Reasoning

Direction Q.(71-73) Read following information carefully and answer
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given question ?

“P + Q" means “P is wife of Q"
“P - Q" means “P is Husband of Q”
‘P @ Q" means “P is sister of Q"
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“P % Q" means “P is mother of Q"
“P * Q" means “P is father of Q”

“P + Q" means “P is son of Q"

“P © Q" means “P is daughter of Q"
“P $ Q" means “P is brother of Q"

Q.71 KV%G@T*M, F+B*L% QOT
How is T related to F ?

(A) Mother in Law (B) Son in Law

(C) Son (D) Cannot determined
Q.72 How M is related to V?

(A) Son (B) Son-in-Law

(C) Grandson (D) Cannot determined

Q.73  Conclusion: () K is grandfather of L.
(1) B is brother of G.
(A) Only conclusion | follow
(B) Only conclusion Il follow
(C) Both conclusion follow
(D) None follow

Q.74  Find the number of triangle in given figure?

(A) 25 (B) 27 (C) 29 (D) 30

Direction Q.(75-77) In these questions, relationships between differ-
ent elements are shown in the statements. These statements
are followed by two conclusions. Give answer-

(A) If conclusion | follows.

(B) If conclusion Il follows.

(C) If either conclusion | or Il follows.

(D) If neither conclusion | nor Il follows.

Statement: Some B are Q. NoQis G Some G are H
All I is K. Some Q is not I. No K is H.

Q.75 Conclusion: (I) Some | are H is a possibility.
() Some B are not H.

Q.76  Conclusion: (I) All Q are K is a possibility.
(Il) 25% G are not H.

Q.77 Conclusion: (I) Spme B are not |.
() AllK are 1.

Direction Q.(78-80) In the following questions select the related
word/ number from given alternatives.

Q.78 MOBILE : RQFXHP : : UPDATE : ?

(A) SYDHHX (B) TZYXHT
(C) SYXZHX (D) TZWYHT
Q.79 24 :864::21:?
(A) 768 (B)796  (C) 821 (D) 756
Q.80 India : Peacock : USA ?
(A) Bald Eagle (B) Swan
(C) Red Kite (D) Robin

Q.81 From the given alternative words, select the word which
cannot be formed using letters of the given word?

CONCENTRATION
(A) CONCERT (B) CONTRACT
(C) RATIO (D) NATIONAL
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Arrange the following words as per order in the dictionary?
1. Noble 2. Nobility 3. Noblesse

4. Nobility 5. Nobble

(A) 54231 (B) 52413 (C) 34251 (D) 14352

Find missing number in given figure?
32 31 64

21 17 | 26

14 | 19 | 23
207| 379| 2
(A) 384 (B)297  (C) 483 (D) 567

Direction Q.(84-85) Choose the Venn diagram which best illustrates

Q.84

Q.85

the three given classes in each of the following questions?
(A) (B) O O

(©) ‘ (D)

Water, Hydrogen, Atmosphere

Shirt, Tie, Socks

Direction Q.(86-88) In the following questions select the odd word/

Q.86

Q.87

Q.88

Q.89

Q.90
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number pair from given alternatives.

(A) Black Pepper (B) Coriander Powder
(C) Chilli Powder (D) Salt
32:160::43:7

(A) 341 (B) 287 (C) 343 (D) 301

KGF:24::RSP:?
(A) 37 (B) 53 (C) 43 (D) 47

Which answer figure is the exact mirror image of the given
question figure when the mirror is held at PQ?

\

oM

N

2]

LA
NN
/L
NN

(A) LN _° (B) L=

NN
AL,
O
/.

(c)kle (D)

Identify the answer figure from which the piece given in the
question figure have been missing.
Question figures-
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Q.94 What is the shortest distance between starting and ending
2 ? point?
S (A)7 (B) 10 (C)8 (D) 12
ole
Q.95 In which direction is starting point with respect to ending
- point?
Answer figures- (A) West (B) South West
(C) East (D) North East
$ 9 Direction Q.(96-97) Study the following information carefully and
(A) le= (B) == answer the given question.
v A Amongst five friends, Abhi, Binod, Chand, Dev and Eshwar
R each got different marks in the examination. Abhi scored
©) L~ (D) more than Binod but less than Chand. Chand scored 65

marks. Dev scored less marks than only Eshwar. The one
who scored the minimum marks scored 60 marks and the

Direction Q (91-93) Study the following information carefully and ofie who scored the highest, scored 80 marks.

answer the given question. In a certain code language,

‘Pick stick you’ is written as ‘tha tcum tva’. Q.96 Who scored the highest marks?
‘gear the deal start’ is written as ‘tpan tcha tga tmo’. (A) Dev (B) Binod
‘start are pick stick’ is written as ‘tta tha tcum tpan’. (C) Eshwar (D) None of these
‘gear the devil start’ is written as ‘tga tcha tshe tpan’
) Q.97  Who get 70 marks ?
Q.91 What is the code ‘gear’? (A) Abhi (B) Chand (C) Binod (D) Dev
(A) tga (B) tshe
(C) Either (A) or (D) (D) tcha Direction Q.(98-100) In the given question a relationship shows
) ) between different elements. After the statement, four
Q.92  What does the code ‘tta’ stand for in the given code conclusions are given. You have to decide which of the
language? ) following conclusion definitely follows the given statements.
(A) Stick (B) Pick  (C) start (D) are (A) Only conclusion | follow
(B) Only conclusion Il follow
Q.93 In the given code language, which of the following means (C) Both conclusion follow
‘devil start’? (D) None follow
(A) tshe tpan (B) tva tmo
(C) the tcum (D) Cannot be determined Q98 Statement:S<L<I=P>E>R:L>Q
Conclusion:1.P>S I.1>Q

Direction Q.(94-95) Amit moves towards South a distance of 7 Km,
then she moves towards West and travels a distance of 14 Q99  Statement: G>R>E=A<T<S:D<A<J
Km. From here he moves towards North a distance of 7 Km Conclusion:.R>D nwJ>1t
and finally he moves a distance of 4 Km towards east. -
Q.100 Statement:S<L<I=P>E>R;L>Q
Conclusion: . S<P I.LP>Q

SPACE FOR ROUGH WORK
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